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APPLIED MATHEMATICS - I

Time : 2.30 Hours] { [Maximum Marks : 50

1 [Mjlgim_u_rp Mgrks =17
NOTES : L ..

i)  Attempt all questions. (

ii) - Students are advised to specidlly check the Numerical Data of question

paper in both versions. If thepe is any difference in Hindi Translation
of any question, the students/gshoyld answer the

question according to
the English version.

i) Use of Pager and Mobile Pijone by the students is not allowed.
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152,425 ! . {rom parts a0 ¢ select correct choice.
Q1) Answer any ten parts of the following: (10 x 1 = 10]
a) 1f2sin0=1 the value of angle 0 1S
7
?T : w7
/ 1) 7 6
. iv) noneé
1i1) 2
‘ 1—x’ .
= then the value of f{tan0) 1s
/b’{ If f) =732 venmey R
i) sin28 f') tan 26 =
i) cos 20 iv) none B £
/ Angle between the vectors f;-zj +k and 4i —3J —4k 15 ;..:
. 1 7 é
. 6 .
iy 90° ip ©OS [ 41 } %
o
5
- [3] z
i sin” |— =
i) 45° iv) 5 g
11 g
Which term of the series Z—I-2—+1— --------- is —128? =]
i 20" w 10"
iii) 15" iv) 25%
J7od (24|
A£) e "-—"’x+7‘ is
3x ~ ;
i) x+7 i)  2x°(x+7)
. 4x
i) 7 1v) none
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X X _(f

fy Vvalnate ‘:H‘I: ;}- ;

) Evaluate (1 +20) 210
sin A -‘-'Siﬂﬂ :_a" b
n) In A ABC prove that = " 4""5;“'” aLib

2 3 1
_ . -2
1) Evaluate

31 4

. tive i index.
i) Write the expansion of (x + a)t. vhere n is a positive integral inde

LI

k) ll‘y:?,;*5_5x‘—3x3+5x+7$ﬁnd E"}'
j x

1) Evaluatc (cos0 = 1 5in0) x (N — i sin0)’.

Q2) Answer any five parts of the following : [5x2=10]
a) Find the sum of the series 1 + 11 + 111 + 1111 + ....... upto n terms.

b) If vectors 7 =2i — j + kand b=3i +2j—5k find 7%

2 2
: —c .
c) Prove that in A ABC sin(B—-C)= " sin'A
' , {~sinx
d) Differentiate with respectto X TTsinx

a3 T

-

¢) Prove that tan"’-,}—r-*rtan T

{) Differentiate with respect t0 X logx<es

1
- +
1 -2i 144

e) transform 1nito A + B form.

4
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Q3) Aoswer aub 0 T of e foligwins -
a)

expension of (X = 2¥. 3=n prove (520 AT -B°=

¥

1 :-m:;mv*:t.':niz..g.:_f-'-ﬂ =

- IFf Jesf=x—— a=d _cmg-

= == %
X -
i
X —
=

: <X ‘:'—3 _ _C—:.'

&) Ifyx=t [——+ks  _—/—.0=C

1"‘"1 :-._, .

Q4) Answer 2oy two parts of the followig : [2x3=16;

' 2
S
2) HxX™={x+3} 7
. 4
5} Prove that cunves x© = 47 = 8and r© - 737 = 2 Ttersect ortDogom é
o Findthe cgretonof thenorml o e ceve y=4r = xr —Jx — 1L =& %
icH c
2x5=16] £
-y — [
Qﬂimﬁmvvormo;mtoﬂo ng - 2x5=10] (53
) - - -—-'izl’:{- o
2y Prowetha Zx(b=0)=bx(€-Z)—Ccx(@+b g

muémn-;-mdmzmaszﬁ_ﬁyrsxmc=

¢) Iorx+tan™ sppir=x.theoprove that x =¥+ I=

383038
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) uﬁmne:l,ﬁtmemmﬁg o

{10 x 1= 101

) T
LT i) —
1) 1 6
iii) _TI. iV) @?T@
2
) @R (x)fl_xz fitan®) T AR |
) f __1+x2 ' |
i)  sin20 ii) tan 26
. 1ii) cos 26 iv) W@
) H&?ﬁf—zj+ﬁaﬁt4§_3jr4£%~:mmaﬁmﬁl
D 900 e[S
| n) 41
iii) 45° iv) sin“[%]
1 1 '
a) MZ—§+1— ......... Eﬁ?ﬁ?{ﬂlﬂﬁ—lQS%?
i) 20awg i) 10=1ue
iii) 15@149q -, iv) 25=ige
da 2x*
RY dx|x+7 A 2
R i) 2x%(x+7
17 i) 2x%(x+7)
.. 4x
m) —- iv) @3 IR
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. x2+x_6
1) !,l_r.rzl X2 _4
q (+2DQ-DFamma | | o

i . . _'.-B a__.b
‘A AB ﬁf%; 3 sin A —sIn _
a) ‘A ABC s sinA+sinB a+b

= U JW ) )

2 3 |1
q) | 1 =2 o 60 |
3 1 4

q)  (x + a) ¥ AR @ S n s quites 2 |

d
q) aRy=T7x-5¢-3x+35x+7, dx{zmmamwﬁl
w) (cosB + i sinf)’ X % (oSO — i sinf)’ = AT 7w A |

n.Z)fﬁﬁ"ftﬁamﬁaamaﬁral [5 x 2 =10]

@) Swit 14 11+ 111+ 1111+ ... n 9 T ATEA T )
a) aRwRw g =2i — j+ kM p =3 +2] -5k =« b I UH T A |
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b2 2
W) AABCHfag=i sin(B—C)= CsmA
3) ﬂaﬁx%mﬁam?ﬂﬁl
1+ sinx
i tan” —+t 37
7) fe - 11 1

1) logx™™ W x & AUY JTFHieT |

1
1—-21 1+4

)

F A + (B & wu 1§ fifta H |
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[2 x 5§ = 10]

e i 1 A o e 1 B 2 e 1

M—mzw-ﬁ"

T) afk 2c0s0= x+— 3R 7«00545““3”*' ?ﬁ frg # 7 2cos(0 + ¢) =

1

+—.
Ty
-1 4x _,2+3x dy
w) afy y=@r pooaran e &1 qH 71 4 |
n.4)wawﬁww?ﬁml 2 x5=10]

d
- 33) afg xny” = (x Y™, _cExJi wmsnaesa |

@) R ETml+ 4y - 83w —2)? = 4 urem A W wes i i R
|) %y =4x° + 7x? - 5x + 10 W aftena @ wiwm B (2, 2) W F@ &

¥.5) frdl @ w1 IR AR | . [2 x 5 =10]
AN axb+o)+bx(c+a)+ex(@+b)=0 fg=a|

g ekr+e—kr -
@) ¢ AFs U uw w0 gl S:;log[-—z—»] fRimmeme ez sy

' kzz
| W T g T 4= 3“_—_"%“@3@%1

W) AR tanly 4 tanly+ anz=n ARG B x+y + =23z,
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